

# Sum of powers of the natural numbers via Stirling numbers of the second kind

Rami AlAhmad

Department of Mathematics  
Faculty of Science  
Yarmouk University  
Irbid, Jordan

email: rami\_thenat@yu.edu.jo

(Received August 4, 2020, Accepted September 14, 2020)

## Abstract

In this paper, many properties of several sequences such as the falling numbers and Stirling numbers of the second kind are discussed. We use these properties to find recurrence relations of the sums of powers  $\sigma_m(n) = \sum_{k=1}^n k^m$ .

## 1 Introduction

Assume that  $\{\sigma_m(n)\}_{m=0}^{\infty}$  is the sequence of sums of the  $m$ -th power of the first  $n$  positive integers defined as

$$\sigma_m(n) = \sum_{k=1}^n k^m.$$

For example,  $\sigma_1(n) = \frac{n(n+1)}{2}$ ,  $\sigma_2(n) = \frac{n(n+1)(2n+1)}{6}$ ,  $\sigma_3(n) = \left[\frac{n(n+1)}{2}\right]^2$ , and  $\sigma_4(n) = \frac{n(n+1)(2n+1)(3n^2+3n-1)}{30}$ . It is clear that if  $a = \sigma_1(n)$ , then  $\sigma_3(n) = a^2$ . It has further been proved  $\sigma_5(n) = \frac{4a^3-a^2}{3}$ ,  $\sigma_7(n) = \frac{6a^4-4a^3+a^2}{3}$ . Many interesting questions arise here. For example, given  $\sigma_m(n)$ , can we get  $\sigma_{m+1}(n)$ ? Can we get  $\sigma_{m+2}(n)$  using  $\sigma_m(n)$  and  $\sigma_{m+1}(n)$ ? For further properties of  $\{\sigma_m(n)\}_{m=0}^{\infty}$ , see [6], [8], and [9].

---

**Key words and phrases:** Stirling numbers, sum of powers of positive integers, difference operators.

**AMS (MOS) Subject Classifications:** 11B73, 39A70.

**ISSN** 1814-0432, 2020, <http://ijmcs.future-in-tech.net>

## 1.1 The falling numbers

Let  $\mathbb{N}_0$  be the set of nonnegative integers. For  $n \in \mathbb{N}_0$ , the falling factorial numbers  $(x)_n$  are given as

$$(x)_n = x(x-1)(x-2)\cdots(x-n+1) = \frac{\Gamma(x+1)}{\Gamma(x+1-n)}, \quad (1.1)$$

where  $(x)_0 = 1$ . It is clear that  $(x)_n = \frac{\Gamma(x+1)}{\Gamma(x+1-n)}$ . In particular, for  $m \geq n$ , we get  $(m)_n = \frac{m!}{(m-n)!}$ .

**Proposition 1.1.** *For  $m \in \mathbb{N}_0$ , the falling numbers  $(x)_n$  satisfy*

$$(x+m)_m(x)_j = (x+m)_{m+j}.$$

*In particular,*

$$(x+1)(x)_j = (x+1)_{j+1}. \quad (1.2)$$

*Proof.*

$$\begin{aligned} (x+m)_m(x)_j &= \frac{\Gamma(x+m+1)}{\Gamma(x+1)} \frac{\Gamma(x+1)}{\Gamma(x-j+1)} \\ &= \frac{\Gamma(x+m+1)}{\Gamma(x+m-(j+m)+1)} = (x+m)_{m+j}. \end{aligned}$$

□

For further properties of these numbers, see [7] and [13].

## 1.2 The forward difference operator

**Definition 1.2.** *Let  $\mathcal{S}(\mathbb{N})$  be the set of complex valued sequences over  $\mathbb{N}$ . For  $u \in \mathcal{S}(\mathbb{N})$ , the forward difference operators  $\Delta : \mathcal{S}(\mathbb{N}) \rightarrow \mathcal{S}(\mathbb{N}) : u \mapsto \Delta u$  is defined as  $(\Delta u)(k) = u(k+1) - u(k)$ .*

It is easy to show that the forward difference operator satisfies

$$\sum_{k=m}^{n-1} (\Delta f)(k) = f(n) - f(m). \quad (1.3)$$

By substituting  $f(n) = (\Delta^{-1}F)(n)$ , we get

$$\sum_{k=m}^{n-1} F(k) = \sum_{k=m}^{n-1} (\Delta \Delta^{-1}F)(k) = (\Delta^{-1}F)(n) - (\Delta^{-1}F)(m). \quad (1.4)$$

This equation defines the inverse difference operator as

$$(\Delta^{-1}F)(n) = C + \sum_{k=m}^{n-1} F(k). \tag{1.5}$$

As an application for this definition and using  $\Gamma(x + 1) = x\Gamma(x)$ , we get

$$\begin{aligned} (k + s + 1)_n - (k + s)_n &= \frac{\Gamma(k + s + 2)}{\Gamma(k + s + 2 - n)} - \frac{\Gamma(k + s + 1)}{\Gamma(k + s + 1 - n)} \\ &= \frac{\Gamma(k + s + 1)}{\Gamma(k + s + 1 - n)} \left( \frac{k + s + 1}{k + s + 1 - n} - 1 \right) \\ &= \frac{\Gamma(k + s + 1)}{\Gamma(k + s + 1 - n)} \frac{n}{k + s + 1 - n} \\ &= n \frac{\Gamma(k + s + 1)}{\Gamma(k + s + 1 - (n - 1))} = n(k + s)_{n-1}. \end{aligned}$$

Now, using (1.3), we get

$$\sum_{j=1}^{k-1} (j + s)_n = \frac{1}{n + 1} \sum_{j=1}^{k-1} \Delta((j + s)_{n+1}) = \frac{1}{n + 1} ((k + s)_{n+1} - (1 + s)_{n+1}) = \frac{(k + s)_{n+1}}{n + 1} + C$$

Therefore, we have proven the following proposition

**Proposition 1.3.** *If  $u(k) = (k + s)_n$ , then*

1.  $(\Delta u)(k) = n(k + s)_{n-1}$ .
2.  $(\Delta^{-1}u)(k) = \frac{(k+s)_{n+1}}{n+1} + c$ .

For further properties for difference operators and their applications, see [10], [1], [2], [3], [4] and [5].

### 1.3 Stirling numbers

For  $n \in \mathbb{N}_0$ , the sequence  $\left\{ \begin{smallmatrix} n \\ k \end{smallmatrix} \right\}, k = 0, 1, 2 \dots n$ , which satisfies

$$x^n = \sum_{j=0}^n \left\{ \begin{smallmatrix} n \\ j \end{smallmatrix} \right\} (x)_j \tag{1.6}$$

is called the Stirling numbers of the second kind.

**Example 1.4.** For  $k \in \mathbb{N}$  and using

$$\begin{aligned} x^3 &= x + 3x(x - 1) + x(x - 1)(x - 2) \\ &= (x)_1 + 3(x)_2 + (x)_3 \\ &= \left\{ \begin{matrix} 3 \\ 0 \end{matrix} \right\} (x)_0 + \left\{ \begin{matrix} 3 \\ 1 \end{matrix} \right\} (x)_1 + \left\{ \begin{matrix} 3 \\ 2 \end{matrix} \right\} (x)_2 + \left\{ \begin{matrix} 3 \\ 3 \end{matrix} \right\} (x)_3, \end{aligned}$$

we get that  $\left\{ \begin{matrix} 3 \\ 0 \end{matrix} \right\} = 0, \left\{ \begin{matrix} 3 \\ 1 \end{matrix} \right\} = 1, \left\{ \begin{matrix} 3 \\ 2 \end{matrix} \right\} = 3$  and  $\left\{ \begin{matrix} 3 \\ 3 \end{matrix} \right\} = 1$ .

In [11], the following explicit formula is given to calculate these numbers

$$\left\{ \begin{matrix} n \\ k \end{matrix} \right\} = \frac{1}{k!} \sum_{j=0}^k (-1)^{k-j} \binom{k}{j} (k - j)^n. \tag{1.7}$$

This equation implies that

$$\left\{ \begin{matrix} n \\ 0 \end{matrix} \right\} = \delta_{n,0} = \begin{cases} 1, & n = 0; \\ 0, & n > 0. \end{cases} \tag{1.8}$$

Clearly, for  $k, m \in \mathbb{N}$  and using (1.8), we have

$$k^m = \sum_{j=1}^m \left\{ \begin{matrix} m \\ j \end{matrix} \right\} (k)_j. \tag{1.9}$$

Taking the sum for both sides of (1.9) from  $k = 1$  to  $n$  and using Proposition 1.3, we get

$$\sigma_m(n) = \sum_{j=1}^m \left\{ \begin{matrix} m \\ j \end{matrix} \right\} \frac{(n + 1)_{j+1}}{j + 1}. \tag{1.10}$$

Now, interchanging the sums technique gives a result which is needed later.

$$\begin{aligned} \sum_{n=1}^N \sigma_m(n) &= \sum_{n=1}^N \sum_{k=1}^n k^m = \sum_{k=1}^N \sum_{n=k}^N k^m \\ &= \sum_{k=1}^N (N - k + 1)k^m \\ &= (N + 1)\sigma_m(n) - \sigma_{m+1}(n). \end{aligned}$$

Therefore,

$$\sum_{n=1}^N \sigma_m(n) = (N + 1)\sigma_m(N) - \sigma_{m+1}(N). \tag{1.11}$$

For further properties of the Stirling numbers, see [12].

## 2 Main Results

This section is devoted to construct recurrence relations for  $\sigma_m(n)$ . To begin with, taking the sum for both sides of (1.10) from  $n = 1$  to  $n = N$ , using (1.11) and Proposition 1.3 we get

$$(N+1)\sigma_m(N) - \sigma_{m+1}(N) = \sum_{j=1}^m \left\{ \begin{matrix} m \\ j \end{matrix} \right\} \frac{(N+2)_{j+2}}{(j+1)(j+2)}.$$

Therefore, we have the following recurrence relation

**Proposition 2.1.** *for  $m \in \mathbb{N}$ ,*

$$\sigma_{m+1}(n) = (n+1)\sigma_m(n) - \sum_{j=1}^m \left\{ \begin{matrix} m \\ j \end{matrix} \right\} \frac{(n+2)_{j+2}}{(j+1)(j+2)}.$$

**Example 2.2.**

$$\begin{aligned} \sigma_4(n) &= (n+1)\sigma_3(n) - \sum_{j=1}^3 \left\{ \begin{matrix} 3 \\ j \end{matrix} \right\} \frac{(n+2)_{j+2}}{(j+1)(j+2)} \\ &= (n+1) \left( \frac{n(n+1)}{2} \right)^2 - \frac{(n+2)_3}{(2)(3)} - 3 \frac{(n+2)_4}{(3)(4)} - \frac{(n+2)_5}{(4)(5)} \\ &= \frac{n(n+1)(2n+1)(3n^2+3n-1)}{30}. \end{aligned}$$

We have other recurrence relations that can be generated after proving the following result

**Proposition 2.3.** *For  $m, k \in \mathbb{N}$ , the following are true*

1.  $k^{m+1} + k^m = \sum_{j=1}^m \left\{ \begin{matrix} m \\ j \end{matrix} \right\} (k+1)_{j+1}$ .
2.  $k^{m+2} + 3k^{m+1} + 2k^m = \sum_{j=1}^m \left\{ \begin{matrix} m \\ j \end{matrix} \right\} (k+2)_{j+2}$ .
3.  $k^{m+3} + 6k^{m+2} + 11k^{m+1} + 6k^m = \sum_{j=1}^m \left\{ \begin{matrix} m \\ j \end{matrix} \right\} (k+3)_{j+3}$ .

*Proof.* Multiply (1.6) by  $k+1$  and use Proposition 1.1 to get

$$\begin{aligned} k^{m+1} + k^m &= (k+1)k^m = \sum_{j=1}^m \left\{ \begin{matrix} m \\ j \end{matrix} \right\} (k+1)_1 (k)_j \\ &= \sum_{j=1}^m \left\{ \begin{matrix} m \\ j \end{matrix} \right\} (k+1)_{j+1}. \end{aligned}$$

Now, use Proposition 1.1 to get

$$\begin{aligned} k^{m+2} + 3k^{m+1} + 2k^m &= (k+2)(k+1)k^m = \sum_{j=1}^m \left\{ \begin{matrix} m \\ j \end{matrix} \right\} (k+2)_2 (k)_j \\ &= \sum_{j=1}^m \left\{ \begin{matrix} m \\ j \end{matrix} \right\} (k+2)_{j+2}. \end{aligned}$$

Again, use Proposition 1.1 to get

$$\begin{aligned} k^{m+3} + 6k^{m+2} + 11k^{m+1} + 6k^m &= (k+3)(k+2)(k+1)k^m \\ &= \sum_{j=1}^m \left\{ \begin{matrix} m \\ j \end{matrix} \right\} (k+3)_3 (k)_j \\ &= \sum_{j=1}^m \left\{ \begin{matrix} m \\ j \end{matrix} \right\} (k+3)_{j+3}. \end{aligned}$$

□

Now, one can easily verify that Proposition 2.3 implies that the following are true.

**Proposition 2.4.** For  $m, k \in \mathbb{N}$

1.  $k^{m+1} = \sum_{j=1}^m \left\{ \begin{matrix} m \\ j \end{matrix} \right\} ((k+1)_{j+1} - (k)_j)$ .
2.  $k^{m+2} = \sum_{j=1}^m \left\{ \begin{matrix} m \\ j \end{matrix} \right\} ((k+2)_{j+2} - 3(k+1)_{j+1} + (k)_j)$ .
3.  $k^{m+3} = \sum_{j=1}^m \left\{ \begin{matrix} m \\ j \end{matrix} \right\} ((k+3)_{j+3} - 6(k+2)_{j+2} + 7(k+1)_{j+1} - (k)_j)$ .

Taking the sum for the results in Proposition 2.3 from  $k = 1$  to  $n$  and using Proposition 1.3 give the following recurrence relations for  $\sigma_m(n)$ .

**Theorem 2.5.** For  $m \in \mathbb{N}$

1.  $\sigma_{m+1}(n) = \sum_{j=1}^m \left\{ \begin{matrix} m \\ j \end{matrix} \right\} \frac{(n+2)_{j+2}}{j+2} - \sigma_m(n)$ .
2.  $\sigma_{m+2}(n) = \sum_{j=1}^m \left\{ \begin{matrix} m \\ j \end{matrix} \right\} \frac{(n+3)_{j+3}}{j+3} - 3\sigma_{m+1}(n) - 2\sigma_m(n)$
3.  $\sigma_{m+3}(n) = \sum_{j=1}^m \left\{ \begin{matrix} m \\ j \end{matrix} \right\} \frac{(n+4)_{j+4}}{j+4} - 6\sigma_{m+2}(n) - 11\sigma_{m+1}(n) - 6\sigma_m(n)$ .

Also, taking the sum for the results in Proposition will give explicit formulas for  $\sigma_{m+1}(n)$ ,  $\sigma_{m+2}(n)$ , and  $\sigma_{m+3}(n)$  respectively.

**Theorem 2.6.** For  $m \in \mathbb{N}$ , the Stirling numbers satisfy

1.  $\sigma_{m+1}(n) = \sum_{j=1}^m \left\{ \begin{matrix} m \\ j \end{matrix} \right\} \left( \frac{(n+2)_{j+2}}{j+2} - \frac{(n+1)_{j+1}}{j+1} \right).$
2.  $\sigma_{m+2}(n) = \sum_{j=1}^m \left\{ \begin{matrix} m \\ j \end{matrix} \right\} \left( \frac{(n+3)_{j+3}}{j+3} - 3 \frac{(n+2)_{j+2}}{j+2} + \frac{(n+1)_{j+1}}{j+1} \right).$
3.  $\sigma_{m+3}(n) = \sum_{j=1}^m \left\{ \begin{matrix} m \\ j \end{matrix} \right\} \left( \frac{(n+4)_{j+4}}{j+4} - 6 \frac{(n+3)_{j+3}}{j+3} + 7 \frac{(n+2)_{j+2}}{j+2} - \frac{(n+1)_{j+1}}{j+1} \right).$

**Example 2.7.** Using  $\left\{ \begin{matrix} 2 \\ j \end{matrix} \right\} = 1$  for  $j = 1, 2$ , we get

$$\begin{aligned} \sum_{k=1}^n k^5 &= \sigma_5(n) = \sum_{j=1}^2 \left\{ \begin{matrix} 2 \\ j \end{matrix} \right\} \frac{(n+4)_{j+4}}{j+4} - 6\sigma_4(n) - 11\sigma_3(n) - 6\sigma_2(n) \\ &= \frac{(n+4)_5}{5} + \frac{(n+4)_6}{6} \\ &\quad - \frac{6}{30}n(n+1)(2n+1)(3n^2+3n-1) - 11\left(\frac{n(n+1)}{2}\right)^2 - 6\frac{n(n+1)(2n+1)}{6} \\ &= \frac{(n+4)(n+3)(n+2)(n+1)n}{5} + \frac{(n+4)(n+3)(n+2)(n+1)n(n-1)}{6} \\ &\quad - \frac{6}{30}n(n+1)(2n+1)(3n^2+3n-1) - 11\left(\frac{n(n+1)}{2}\right)^2 - 6\frac{n(n+1)(2n+1)}{6} \\ &= \frac{[n(n+1)]^2(2n^2+2n-1)}{12}. \end{aligned}$$

## References

- [1] R. AlAhmad, R. Weikard, On Inverse Problems For Left Definite Discrete Sturm-Liouville Equations, *Operators and Matrices*, **7**, no. 1, (2013), 35–70.
- [2] R. AlAhmad, A Hilbert space on left-definite Sturm-Liouville difference equation, *Int. J. App. Math.*, **27**, no. 2, (2014), 163–170.
- [3] R. AlAhmad, Finding Laplace transform using difference equations, *J. Math. Comput. Sci.*, (to appear).

- [4] S. Al-Ahmad, M. Mamat, R. AlAhmad, I. Sulaiman, P. Ghazali, On New Properties of Differential Transform via Difference Equations, *Int. J. Engg & Tech.*, **7**, no. 3.28, (2018), 321–324.
- [5] S. Al-Ahmad, M. Mamat, R. AlAhmad, Finding Differential Transform Using Difference Equations, *IAENG Int. J. App. Math.*, **50**, no. 1, (2020), 127–132.
- [6] C. B. Boyer, Pascal’s Formula for the Sums of Powers of the Integers, *Scripta Math.*, **9**, 1943, 237–244.
- [7] Donald E. Knuth, Two notes on notation, *American Mathematical Monthly*, **99**, no. 5, (1992), 403–422 (The remark about the Pochhammer symbol is on page 414).
- [8] C. B. Boyer, *A History of Mathematics*, Wiley, New York, 1968.
- [9] Richard A. Brualdi, *Introductory Combinatorics*, 3rd ed., Elsevier, New York, 1997.
- [10] Abdul J. Jerri, *Difference Equations with Discrete Transforms Methods and Applications*, Kluwer Academic Publishers, Boston, 1996.
- [11] S. Roman, *The Umbral Calculus*, Academic Press, New York, 1984.
- [12] I. Marx, Transformation of Series by a Variant of Stirling’s Numbers, *American Mathematical Monthly*, **69**, no. 6, (1962), 530–532.
- [13] John Harris, Jeffrey L. Hirst, Michael Mossinghoff, *Combinatorics and Graph Theory*, Springer, 2008.